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Tabela de Identidades Trigonometricas

Tabela de Relagoes Trigonométricas

2

01) sen’x + cos?x = 1

02) 1+ tg2x = sec?x

03) 1+ cotgzx = cosec?x

04) sen (-x) = -sen x

05) cos (-x) = cos X

06) tg (-x) =-tg x

07) cosecz= 08) secx=
SEN X A
1
09) cotg sz = —— 10) tex = SEf X
tgx cos ¥
11) cotgz = FooE 12) sen{ath)=senacosh + cosasenh
SEN X
+
13) cos{at by =cosacosh F senasenb |14) tg(a+th)= fgatigh
l-tzatgh

tza-tzh

15 tefa-h) = ———om
)tefa-b) l+tzatzh

16) costx =% {1+ cos 2x)

17) sentx = ;— i(1-cos 2x)

18) sen 2x =2 sen X.cos X

= cos2x - sen?x = | - 2, = dtgx
19) cosZZX cos“X - sen“x =1 - 2 sen“x h0) 15 2% = %2
=2 cos“x - 1 1-tz*x
21) |sen _tosE 22) leos 2= 1rcosx
4 2
23) tg x_locosx _senx 24) senx cosy = 1 [sen (z-y) + sen{x+ ¥)]
2 sen X 1+ cosx 2

25) senxseny = % [cos (x-v) - cos (x+ v)

26) cosx cos v == [cos (Z-y) + cos (x+ v

ra | —

27) cos xseny = 1—[s&:ﬂ (z+ v

- - sen (2 - ¥]]

- +
28) senx-seny = Zsen[xzyj.cns[x > F]

29) senz cosx= % sen 2x

30) 1-cnsx=25&n2§

2

31) 1+ cosx =2 cos é

32) 1 £ senx=1 % cos [EK]

2

33) cos 28 = t:l:uszé? - snan2 &
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